
 

M=4P
CS 

B-F 

 

  

 

 

 

D=4 PCS D=5 PCS 

 

 

 

 

 

 

the bottom side of each seat. 

A-F 
 

 

 

C-F 
 

 

 

 

 

 

 

 

B-F 

① 

 

A-F 
BACK 

 

1 PCS 

B-F ARM 1 PCS 

C-F SEAT 

 

1 PCS 

D M6*35 
9 PCS 

E 

  

1 PCS 

M 

 

4 PCS 
 

1.Lay down partAwith screw holes facing upwards. 

2.Next,laydown partCand try matching the screw holes with the 

coresponding  holesof  partA. 

3.Loosely attach each screw by placing ascrewin each screw hole and thread 

on the screws,so that tcatches.tis very important to not tighten the screws yet. 

4.Now place part Aalongside with part B.You want to make surethe protruding steel 

tube of partAfits within thecorrespondinghole of part B.You can now begin to 

thread oneach screw loosey. 

5.Onceall screws have been attached,you can begin tightening each screw downone byone. 

6.Lastly,youwantto attachtheinduded screw on leveling feetto each screw hole at 

LEFT   SIDE 
WHEN 

SEATED 

C-
F 

A-F 



 

G-
F 

 

① 
F-F 

H-F 

 

 

D=4 PCS D=5 PCS 

 

 

 

 

 

M=4  PCS 

 

H-F 
F-F 

 
 
 
 
 
 
 
 
 
 
 

G-F 

 
 

F-F   BACK 

 

1 PCS 

G-F 

  ARM 

 

1 PCS 

H-F 
 

 

SEAT 
1 PCS 

D 
  M6*35 

9 PCS 

E  

 

1 PCS 

M  4 PCS 

 
1.Lay down part Fwith screw holes facingupwards. 

2.Next,lay down part Hand try matching thescrew holes wth the 

correspondingholes of partF. 

3.Looselyattach each screw by placing ascrew in each screw hole and thread 

on the screws,so that it catches.Itisveryimportant to not tiohten the screws yet. 

4.Nowplace partGalongside with part F.You want to make surethe protruding stee 

tube ofpart Ffitswithin the correspondinghole of partG.You can now begin to    

threadoneach screw  loosey. 

5.0nce al screws have been attached,you can begjin tightening each screw down one by one. 

6.Lasty,you want to attachthe induded screwon leveling fetto each screw hole at 

the bottom side of each seat. 

RIGHT  SIDE WHEN 
SEATED 



 

CENTER  SEAT 
 

 

I-F 
J-F 

I-F 

J-F 

D=6 PCS 

 

 

M=4 PCS 

 

 

① 

 

I-F  BAC
K 

1 PCS 

J-F  SEAT 1 PCS 

D  M6*35 6 PCS 

 

E  

 

1 PCS 

M  4 PCS 
 

1.Lay  down  part  lwthscrewholes  facingupwards. 

2.Next,lay down partJand try matching the screwholes withthe 

correspondingholes    ofpartl. 

3.Loosely atach each screwbypacing ascrewin each screw hdle and thread 

on  the  screws,sothatit  catches.ltisveryimportant  to  notiohten  thescrewsyet. 

5.0nce lscrews have been attached,you can begjintiohteningeachscrewdown one by one. 

6.Lasty,you   want    to    atach   theincdude    screwonleveingfeeto    eachscrew    holeat 

thebottom  side  of each  seat. 

 



 

OTTOMAN 
 

 

K-F 

 

 

 

 

 

 

K-F 
 

 

 

 

 

 

L F D=4     PCS 

 

 

 

 

M=4 PCS 

 

 

 

K-F  1 PCS 

L-F  1 PCS 

D  M6*35 4 PCS 

E  1 PCS 

M  4 PCS 
 

1.Lay down partK withthe top of the seatfacing the ground. 

2.Next,attach partLin the same orientation to make a complete square. 

3.Begin by loosely attaching the scews ontheside first. 

4.Then loosely atach the screws atthe bottom. 

5.0nce  allscrews  havebeen  atached,youcanbegin  ighteningeach 

screw  down  one  by  one. 

6.Lastly,you want to attach the indudedscrew on leveing feettothebottom 

side ofthe ottoman. 

 


